
Plane Geometry 
Circle

cameter form of Lid
-

(x - x)(x - x2) + (x,-(2 -, y2)

(y-y ,)(y-yz) = 0



1 . Find the elevation of the Circl when

the end points of a diameter are

1-2
,
-3) and (-3 , 5)

2 . Find the equation of the wicl drawn

on the diagonal of the rectangle as

its diameter whose sides are

x = 4
,
x
=
- 2 and y = 5 Y= - 2



① Bo A) - 2 , - 3)
B( - 3 ,5)

(- 2,-3)
-3
,5)

(x - (-2))(x - (- 31)+(y - ( x)(y - 5) = 0

R +2)(x + 3) + (y + 3)(y -5 = 0
x + 3x + 2x + 6 + y2- 5y + 3y- 15 =

0

2 + 5x + 6 + y2 - 2y- 15 = 0



x + yc + 5x - cy - 9 = 0 Am .

-

Solo Given es . of sides of rectangle
y = 5 (4

,5)
x = 4

,
x = - 2

i

y = 5
, y = - 2 i s

(- x)(x - x) +
(y-y , )(y-yz) =0 (-2

,
- 2) y

= - 2

12
, 13)



(x + 2)(x - 4) + (y + 2)(y -5) = 0

n2 - 4x +2x - 8 + y2 - sy +2y- 10 = 0

x2 - 24 - 8 + y2 - 3y - 10 = 0

2
+ y2 - 2x - 3y - 18 = 0x

which is required ef


